Hi KOKI]
DISC GRINDER G18BYE

17/

Item No.|Code No. Description No. Used Remarks
1/337641 [PUSHING BUTTON 1
2320219 |SPRING 1
31315049 |FELT WASHER 1
41949568 |LOCK NUT M8 (10 PCS.) 1
5|373942 |RUBBER RING 1
6|6201VV  |BALL BEARING 6201VV 1
71373928 |FELT PACKING (A) 1
8373927 |BEARING HOLDER 1
9|/361098 |ROTOR (A) ASS"Y 1{INCLUD.6-8,13,14
10[373943 [FAN GUIDE 1
11|341024E [STATOR 230V 1
12|374376  [SENSOR PCB (A) 1
13[373929 [DUST SEAL 1
14/6000VV__ [BALL BEARING 6000VVCMPS2L 1
15[/306945 [TAPPING SCREW D3X10 1
16[305558 [TAPPING SCREW (W/FLANGE) D5X25 (BLACK) 4
17[373935 [GEAR COVER ASS"Y 1{INCLUD.1-3,18
18[374367  |LOCK PIN 1
19/987201 [SEAL LOCK SCREW (W/SP. WASHER) M4X10 2
20373939  |BEARING COVER 1
21{6202VV__ |BALL BEARING 6202VVCMPS2L 1
22|373938 |FELT PACKING (B) 1
23374372  |SEAL PLATE 1
241373937  |PACKING GLAND 1
251998485 |HEX. SOCKET HD. BOLT (W/FLANGE) M5X14 4
26|374604  |SLEEVE 1
27A| 379935 |BELLEVILLE SPRING (C) 1
28|374369  |SUPPORT BODY (C) 1
29|374605 |SPINDLE 1
30949662 |HEX. SOCKET HD. BOLT M5X25 (10 PCS.) 1
31377963 |WHEEL GUARD ASS"Y 1|INCLUD.30
32374314 |WHEEL WASHER (E) 1
331316824 |D. C. WHEELS 180MM A24R (25 PCS.) 1
34373779 |WHEEL NUT M14x2 1
35|373940 |GEAR AND PINION SET 1
36374312  |HOUSING 1
37 NAME PLATE 1
38|377295 |HOLDER ASS"Y 1|INCLUD. 39,42
39|374366  |HOLDER 1
40305490 |TAPPING SCREW (W/FLANGE) D4X30 (BLACK) 4
411378995 |SWITCH 1
421373933 |LED HOLDER 1
431373936 |FILTER 2
441374313 |HANDLE (C). (D) SET 1
*45|940778 |CORD ARMOR D10.7 1
46960266 |CORD CLIP 1
471984750 |TAPPING SCREW (W/FLANGE) D4X16 2
48|374963 |FILTER PCB (A) 1
491373930 |PILLAR TERMINAL 1
50305812 |TAPPING SCREW (W/FLANGE) D4X16 (BLACK) 4
*51|500497Z |CORD 1{(CORD ARMOR D10.7) FOR AUS,NZL
STANDARD ACCESSORIES
501A|381403 |SIDE HANDLE 1

* ALTERNATIVE PARTS




Hi KOKI]
DISC GRINDER G18BYE

2/

Item No.|Code No. Description No. Used Remarks
502|376127 |WRENCH 1
503|944458 |HEX. BAR WRENCH 4MM 1
OPTIONAL ACCESSORIES
601|376506 |WHEEL GUARD (FOR CUTTING) 1
602|377880 |WHEEL GUARD BASE SET 1

* ALTERNATIVE PARTS




MODEL

G18BYE

17.4.2024

Rev.3




